Supplement of Geosci. Model Dev., 14, 1237-1252, 2021
https://doi.org/10.5194/gmd-14-1237-2021-supplement
© Author(s) 2021. This work is distributed under

the Creative Commons Attribution 4.0 License.

Supplement of

On the model uncertainties in Bayesian source reconstruction using an
ensemble of weather predictions, the emission inverse modelling system
FREAR v1.0, and the Lagrangian transport and dispersion model Flex-
part v9.0.2

Pieter De Meutter et al.

Correspondence to: Pieter De Meutter (pieter.de.meutter @sckcen.be)

The copyright of individual parts of the supplement might differ from the CC BY 4.0 License.



density

0.2 0.3 0.4

0.1

0.0

itime=10, iobs=10

_ —
I T T I I O O —

,!
A

— Ensemble
Ctrue fit
Gaussian fit

SN

T e e s xw X

-15

I
-10

I I
-5 0

log(srs / median(srs))

I
10




density

0.5

0.2 0.3 0.4

0.1

0.0

itime=10, iobs=11

ﬂ —— Ensemble
" ‘ Ctrue fit
| ‘ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=10, iobs=12

[\ —— Ensemble
J Ctrue fit
Gaussian fit
__________ __J_}/ —
| | | |
-10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=10, iobs=1

\ — Ensemble
u Ctrue fit
i Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=10, iobs=2

[\ —— Ensemble

\ Ctrue fit

‘ Gaussian fit
V4
- /
AAAAAAAAAAA _,_/ \-__________
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=10, iobs=3

Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=10, iobs=4

I T I rw O CW.rw e

— Ensemble
Ctrue fit
Gaussian fit

I
-10

I I
-5 0

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=10, iobs=5

— Ensemble
Ctrue fit
‘ Gaussian fit
AAAAAAAAAA _____"’/ P —
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=10, iobs=6

,\ —— Ensemble
‘ Ctrue fit
‘ Gaussian fit
A
— _J_J__‘__,___" P
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=10, iobs=7

log(srs / median(srs))

M —— Ensemble
\ Ctrue fit
Gaussian fit
I — —/ \ ——
[ [ [ [ [
-10 -5 0 5 10




density

0.10 0.20 0.30

0.00

itime=10, iobs=8

— Ensemble
\ Ctrue fit
Gaussian fit
| | | | |
-10 -5 0 5 10

log(srs / median(srs))



density

0.3

0.2

0.1

0.0

itime=10, iobs=9

;\ —— Ensemble
R Ctrue fit
Gaussian fit
V4
AAAAAAAAA __/ ——
I I I I
-10 -5 0 10

log(srs / median(srs))




density

0.5

0.2 0.3 0.4

0.1

0.0

itime=11, iobs=10

log(srs / median(srs))

i —— Ensemble
! Ctrue fit
| ‘ Gaussian fit
/
e ————— _,"'/ — st
| | | | |
-10 -5 0 5 10




density

0.5

0.2 03 04

0.1

0.0

itime=11, iobs=11

q —— Ensemble
i ‘ Ctrue fit
‘ Gaussian fit
\k\
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=11, iobs=12

I T T T . —

— Ensemble
Ctrue fit
Gaussian fit

-15

-10

I I
-5 0

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=11, iobs=1

— Ensemble
Ctrue fit
\ Gaussian fit

g T rwm s s

-15

-10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=11, iobs=2

— Ensemble
r Ctrue fit
i Gaussian fit
AAAAAAAAAA _,______—’” S
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=11, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
______________ _‘__J‘___"/ \______-
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=11, iobs=4

log(srs / median(srs))

— Ensemble
Ctrue fit
x‘ Gaussian fit
| | | | |
-10 -5 0 5 10



density

0.10 0.20 0.30

0.00

itime=11, iobs=5

— Ensemble
— ‘ Ctrue fit

\ Gaussian fit

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=11, iobs=6

[\\ —— Ensemble
! Ctrue fit
Gaussian fit
S ——————_ — T— g I — // o —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=11, iobs=7

log(srs / median(srs))

N —— Ensemble
\ Ctrue fit
‘ Gaussian fit
I rm D T T T ,-4‘,_4-—-‘—“/’ \J‘J‘_ JJJJJJ
| | | | | |
-15 -10 -5 0 5 10




density

0.10 0.20 0.30

0.00

itime=11, iobs=8

L W ——

— Ensemble
Ctrue fit
Gaussian fit

e ——

-10

I I
-5 0

log(srs / median(srs))



density

0.4

0.3

0.2

0.1

0.0

itime=11, iobs=9

q — Ensemble
i

Ctrue fit
Gaussian fit
/
7
AAAAAAAAAAAAA = ————n e
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.1 0.2 0.3 0.4 0.5

0.0

itime=12, iobs=10

i — Ensemble
i Ctrue fit
| Gaussian fit

T wwm rwm s o mw o mwm  mw

log(srs / median(srs))




density

0.5

0.2 03 04

0.1

0.0

itime=12, iobs=11

log(srs / median(srs))

- — Ensemble
! \ Ctrue fit
i Gaussian fit
1
[
I
[
i
| - — | | |
-10 -5 0 5 10




density

0.10 0.20 0.30

0.00

itime=12, iobs=12

log(srs / median(srs))

[\ —— Ensemble
‘ \ Ctrue fit
Gaussian fit
e e e e e S e — \-—-—_:- 44444
| | | | | |
-15 -10 -5 0 5 10




density

0.10 0.20 0.30

0.00

itime=12, iobs=1

\ — Ensemble
Ctrue fit
‘ ‘\ Gaussian fit
o e \\_nnn__lJ
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=12, iobs=2

[‘-‘ — Ensemble
‘ ‘\ Ctrue fit
Gaussian fit
AAAAAAAAA _‘_"// —~————
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=12, iobs=3

[\ — Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=12, iobs=4

— Ensemble
Ctrue fit
\ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=12, iobs=5

\ — Ensemble
' Ctrue fit
! Gaussian fit
/
AAAAAAAAAAA e ———— —// \\‘.__.‘___‘__‘_-‘_
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=12, iobs=6

[\‘ —— Ensemble
_ \ Ctrue fit
Gaussian fit

— I o T . —_ \‘-__——— >

I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.3

0.2

0.1

0.0

itime=12, iobs=7

!\‘ — Ensemble
'\ Ctrue fit
| Gaussian fit
T — — _,_J_J‘J_}!'/ B S N —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=12, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=12, iobs=9

q — Ensemble
i \ Ctrue fit
l \ Gaussian fit
I I I I
-10 -5 0 10

log(srs / median(srs))




density

01 02 03 04 05

0.0

itime=13, iobs=10

~ —— Ensemble
i ‘ Ctrue fit
i { Gaussian fit
' !
t
j
/
7/
o r— - — e e omy omx ommx ommx ommx omx o
I I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

02 03 04 05 06

0.1

0.0

itime=13, iobs=11

log(srs / median(srs))

I'ﬂ‘ — Ensemble
| Ctrue fit
: ‘ Gaussian fit
| !
!
I
| | | |
-10 -5 0 10




density

0.10 0.20 0.30

0.00

itime=13, iobs=12

— Ensemble
Ctrue fit
Gaussian fit
P
AAAAAAAAAA J__J——/ .
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=13, iobs=1

[\ —— Ensemble
\ Ctrue fit
\ Gaussian fit
________ S L
I I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=13, iobs=2

{\\ —— Ensemble
\ Ctrue fit
! Gaussian fit
R _’-______’// g e —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=13, iobs=3

[\ — Ensemble
Ctrue fit
Gaussian fit
______ _4-——-—-/ .
| | | |
-10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=13, iobs=4

— Ensemble
\ Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=13, iobs=5

Ctrue fit

{‘\ —— Ensemble
! Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=13, iobs=6

— Ensemble
— \ Ctrue fit
\ Gaussian fit
—] P— ;_A-J-J-J-J-A_—;// \\-‘— --------
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.3

0.2

0.1

0.0

itime=13, iobs=7

[\ — Ensemble
CA Ctrue fit
Gaussian fit
o _J_J_J___,,_// K*&nnm
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=13, iobs=8

e ek ek

— Ensemble
Ctrue fit
Gaussian fit

-10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=13, iobs=9

———
o w——

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

02 03 04 05

0.1

0.0

itime=14, iobs=10

(’i — Ensemble
i Ctrue fit
! { Gaussian fit
Ly
L
Ly
Ly
\
T | —
-10 -5 0 5 10

log(srs / median(srs))




density

01 02 03 04 05 06

0.0

itime=14, iobs=11

',4 —— Ensemble
' Ctrue fit
! l Gaussian fit
\
| | | | |
-10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=14, iobs=12

[\ —— Ensemble
Ctrue fit
Gaussian fit
__________ __..// \—--._-_.--_.--__--_
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=14, iobs=1

— Ensemble
\ Ctrue fit
\ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=14, iobs=2

{\ — Ensemble
\ Ctrue fit
\ Gaussian fit
/
AAAAAAAAAAAA _,__,____—.// e ——
| | | | | |
~15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=14, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
Y,
_______________ _’____’_/‘/ e
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=14, iobs=4

— Ensemble
‘\ Ctrue fit
Gaussian fit
e e e S ——— =N e —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=14, iobs=5

— Ensemble
\ Ctrue fit
\ Gaussian fit
AAAAAAAAAAA _____‘-—/—/ e o S —
| | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=14, iobs=6

— Ensemble
\ Ctrue fit
\ Gaussian fit
-— i -Ax-g-_l-._l'-——"—_’/ \\—-—-—-‘ 44444
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=14, iobs=7

[\ —— Ensemble
F\ Ctrue fit
Gaussian fit
o _J_J___J_J_,,/// \ —_— .
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=14, iobs=8

[\ —— Ensemble
Ctrue fit
Gaussian fit
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=14, iobs=9

q — Ensemble
i { Ctrue fit
i ‘ Gaussian fit
*
|
|
|
//
AAAAAA _'__'-_—_’4 N
I I I I I I
-10 -5 0 5 10 15

log(srs / median(srs))




density

02 03 04 05

0.1

0.0

itime=15, iobs=10

I T T T T e -

A
l

|

I

i

t
[
i

i
i

|

|

|

F

I\

— Ensemble
Ctrue fit
Gaussian fit

e w o mw R

| | | |
-10 -5 0 5

log(srs / median(srs))

I
10




density

0.5

02 03 04

0.1

0.0

itime=15, iobs=11

!

— Ensemble
‘ Ctrue fit
: Gaussian fit

|

i
W

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=15, iobs=12

[\ —— Ensemble
‘ Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=15, iobs=1

[\ —— Ensemble
Ctrue fit
‘ Gaussian fit
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=15, iobs=2

{\ — Ensemble
1 Ctrue fit
Gaussian fit
AAAAAAAAAAA = ———
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=15, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
e _'__‘______,,—-/ 'n____________
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=15, iobs=4

— Ensemble
Ctrue fit
| Gaussian fit
e ———————————— g -
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=15, iobs=5

— Ensemble
\ Ctrue fit
Gaussian fit
______________ _'__‘-___/ / i
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=15, iobs=6

— Ensemble
Ctrue fit
\ Gaussian fit
R _,// \___'__.‘__‘J‘
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=15, iobs=7

log(srs / median(srs))

\ — Ensemble
\ Ctrue fit
\ Gaussian fit
| | | |
-10 -5 0 5 10




density

0.10 0.20 0.30

0.00

itime=15, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

e T - —— i T—

I I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=15, iobs=9

n
|

— Ensemble
Ctrue fit
Gaussian fit

o TR s e _mxwe

log(srs / median(srs))

10 15




density

0.5

0.2 0.3 0.4

0.1

0.0

itime=16, iobs=10

ﬁ —— Ensemble
i\ Ctrue fit
| ‘ Gaussian fit
{
1
I
[
f ‘\
Ly
_4-7-4- I I |7 — 4|4 —
-10 -5 0 5 10

log(srs / median(srs))




density

01 02 03 04 05

0.0

itime=16, iobs=11

'i‘ — Ensemble
\ Ctrue fit
! Gaussian fit
‘K‘
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=16, iobs=12

[\ —— Ensemble
‘\ Ctrue fit
Gaussian fit
I _J_J_J__,-_J-_;"’/ e S
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=16, iobs=1

[\ — Ensemble
\‘ Ctrue fit
Gaussian fit
_A_A_J-J-J——_——_“" \_J““ 4444444
| | | |
-10 -5 0 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=16, iobs=2

[\ —— Ensemble
2 Ctrue fit
Gaussian fit
____________ J__’_’/ “_'-_"_.-_.‘J_
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=16, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
e _r__‘_____/, P
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=16, iobs=4

— Ensemble
Ctrue fit
\\ Gaussian fit
e —————————g— o
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=16, iobs=5

| Ctrue fit

[\‘ — Ensemble
‘\

Gaussian fit

e ———— T o

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=16, iobs=6

[\ —— Ensemble

\ Ctrue fit

\ Gaussian fit
I I I I I I

-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=16, iobs=7

[“ — Ensemble
{ Ctrue fit
‘ Gaussian fit
- e rm rm T T _J-J‘J-_J—L—J‘/ B — —
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=16, iobs=8

Ensemble

Ctrue fit

Gaussian fit

log(srs / median(srs))

10




density

0.3

0.2

0.1

0.0

itime=16, iobs=9

i — Ensemble
‘ Ctrue fit
\ Gaussian fit
|
| | | | | | | |
-15 -10 -5 0 5 10 15

log(srs / median(srs))




density

0.1 0.2 0.3 0.4 0.5

0.0

itime=17, iobs=10

i —— Ensemble
! Ctrue fit
;! Gaussian fit
!
A
|
W
|
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

02 03 04 05

0.1

0.0

itime=17, iobs=11

(’i — Ensemble
# | Ctrue fit
| Gaussian fit
J K
e /// AAAAAA
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=17, iobs=12

[\ —— Ensemble
A Ctrue fit
Gaussian fit
‘_y—‘//
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=17, iobs=1

[\ —— Ensemble
‘ ‘\ Ctrue fit
Gaussian fit
//
I I I I I
-15 -10 -5 0 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=17, iobs=2

— Ensemble
\ Ctrue fit
Gaussian fit
pd
AAAAAAAAAAA ______,_—_// e e
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=17, iobs=3

— Ensemble
‘ Ctrue fit
\ Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=17, iobs=4

— Ensemble
Ctrue fit
Gaussian fit
| | | | |
-10 -5 0 5 10

log(srs / median(srs))



density

0.3

0.2

0.1

0.0

itime=17, iobs=5

— Ensemble
\ Ctrue fit
!\ Gaussian fit
S
AAAAAAAAAA ______J_,’/ ——
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=17, iobs=6

B —— Ensemble
‘ Ctrue fit
\ Gaussian fit
_| O e — s
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=17, iobs=7

N —— Ensemble
\ Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=17, iobs=8

ke ek

— Ensemble
Ctrue fit
Gaussian fit

-15

-10

I I
-5 0

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=17, iobs=9

Ctrue fit

q —— Ensemble
Gaussian fit

log(srs / median(srs))




density

0.5

0.1 0.2 0.3 0.4

0.0

itime=18, iobs=10

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.5

0.2 03 04

0.1

0.0

itime=18, iobs=11

— Ensemble
! Ctrue fit
{ Gaussian fit
|
/; ‘\—\
I I I I
-10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=18, iobs=12

[\ —— Ensemble
A Ctrue fit
Gaussian fit
----------- J-___,_’/ e e ————
I I I I I
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=18, iobs=1

[\‘ —— Ensemble
Ctrue fit
Gaussian fit
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=18, iobs=2

— Ensemble
\ Ctrue fit

Gaussian fit

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=18, iobs=3

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))



density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=18, iobs=4

— Ensemble
Ctrue fit
Gaussian fit

I I I rw. rw e — sman s s

-10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=18, iobs=5

{\ —— Ensemble
i \ Ctrue fit
o\ Gaussian fit
S
------------ ___—) / e ———
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=18, iobs=6

[\ —— Ensemble
| Ctrue fit
Gaussian fit
rd \
_l____J_J_J___J_——’/ .
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=18, iobs=7

{\ — Ensemble
1 Ctrue fit
Gaussian fit
7
e _4_7_7,_,_‘// ey e —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=18, iobs=8

— Ensemble
Ctrue fit
Gaussian fit
_______________ _'_____// ——
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=18, iobs=9

— Ensemble
Ctrue fit
\ Gaussian fit
| | | | | |
-10 -5 0 10 15

log(srs / median(srs))



density

0.5

01 02 03 04

0.0

itime=19, iobs=10

"" — Ensemble
i ‘ Ctrue fit
i ‘ Gaussian fit
]
!
!
|
|
‘\
I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.6

0.5

02 03 04

0.1

0.0

itime=19, iobs=11

log(srs / median(srs))

L — Ensemble
| ‘ Ctrue fit
' ‘ Gaussian fit
|
!
|
| | | | |
-10 -5 0 5 10




density

0.10 0.20 0.30

0.00

itime=19, iobs=12

[\\ —— Ensemble
\ Ctrue fit
Gaussian fit
______________ —_'_,”/ \‘_'__‘__.-_.‘4
| | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=19, iobs=1

— Ensemble
. \ Ctrue fit
‘ ‘\ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=19, iobs=2

\ — Ensemble
Ctrue fit
‘ \ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=19, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAA _‘__‘____’// ~————
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=19, iobs=4

— Ensemble
Ctrue fit
Gaussian fit

\

I T T W W = o

I I I I I
-10 -5 0 5 10

log(srs / median(srs))




itime=19, iobs=5

0.4

0.2 0.3

density

0.1

0.0

f} — Ensemble
i | Ctrue fit
\ Gaussian fit
7
___________ ________,—/ ——
I I I I
-5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=19, iobs=6

[\ —— Ensemble
‘ \ Ctrue fit
Gaussian fit
___________ __J_/ ———
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




itime=19, iobs=7

0.2 0.3 04

density

0.1

0.0

[\‘ —— Ensemble
! \ Ctrue fit
Gaussian fit
\\-
I I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=19, iobs=8

— Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAAAAAAAA —— P
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.4

0.3

0.2

0.1

0.0

itime=19, iobs=9

q —— Ensemble
‘ Ctrue fit
Gaussian fit

i
1
1
\

AAAAAAAAAA _,__._.._-—-/ / ——

| | | | | |

-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=1, iobs=10

h — Ensemble
* Ctrue fit
\ Gaussian fit
S _"—__‘__// e
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=1, iobs=11

| — Ensemble
I Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=1, iobs=12

I e et

— Ensemble
Ctrue fit
Gaussian fit

e e e i e

-10

I I
-5 0

log(srs / median(srs))

10




density

0.10 0.20 0.30

0.00

itime=1, iobs=1

— Ensemble
\ Ctrue fit
A Gaussian fit
I I I I I I
-15 -10 -5 0 10 15

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=1, iobs=2

{\ —— Ensemble
‘ g Ctrue fit
Gaussian fit
V4
.‘-—-—’//
I I I I I I I
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=1, iobs=3

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=1, iobs=4

et T GETT NS S S

— Ensemble
Ctrue fit
Gaussian fit

-15

I
-10

I I
-5 0

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=1, iobs=5

— Ensemble
Ctrue fit
N Gaussian fit
e o _'-—_—_-_’/ R,
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))



density

0.00 0.05 0.10 0.15 0.20 0.25

itime=1, iobs=6

Ensemble
Ctrue fit
Gaussian fit
__________ - e S ——
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=1, iobs=7

[\ —— Ensemble
' Ctrue fit
Gaussian fit
/
Ve
o ,_A_J-_x—_r—_r——-'—*’/ \k.__,__,_ 44444
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=1, iobs=8

P N NS T U . S S

— Ensemble
Ctrue fit
Gaussian fit

-15

-10

I I
-5 0

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=1, iobs=9

[\ —— Ensemble
\\ Ctrue fit
\ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.5

02 03 04

0.1

0.0

itime=20, iobs=10

— Ensemble
:' Ctrue fit
i ! Gaussian fit
| |
l |
. |
[
“ |
} |
.
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.6

04 0.5

0.3

0.2

0.0 01

itime=20, iobs=11

—_ — Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=20, iobs=12

— Ensemble
Ctrue fit
Gaussian fit
____________ _'__'_____,—/ S
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=20, iobs=1

[\ —— Ensemble
[ Ctrue fit

Gaussian fit

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=20, iobs=2

\ — Ensemble
| Ctrue fit
o Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=20, iobs=3

— Ensemble
\ Ctrue fit
Gaussian fit
V4
_.—_a—-///
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=20, iobs=4

R R e T GEET IR, SRS TES N

— Ensemble
Ctrue fit
Gaussian fit

\-___-

-15

-10

I
-5

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=20, iobs=5

M —— Ensemble
i Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=20, iobs=6

{\ —— Ensemble
A Ctrue fit
Gaussian fit
_________ __J}—/ m‘*.__‘_‘__‘____‘__
I I I I I
-10 -5 0 5 10

log(srs / median(srs))



density

0.4

0.3

0.2

0.1

0.0

itime=20, iobs=7

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=20, iobs=8

— Ensemble
Ctrue fit
Gaussian fit
%
AAAAAAAAAAA _‘__.__‘__.—/ S
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=20, iobs=9

— Ensemble
Ctrue fit

Gaussian fit

ﬂ
\
t

log(srs / median(srs))




density

02 03 04 05 06

0.1

0.0

itime=21, iobs=10

(" — Ensemble
i Ctrue fit
| ‘ Gaussian fit
| |
;!
| !
B
'9 |
l‘ |
ro
/
I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

00 01 02 03 04 05 0.6

itime=21, iobs=11

ll
1
ll
ll
ll
ll
ll
l l

— Ensemble
Ctrue fit

Gaussian fit

log(srs / median(srs))



density

0.10 0.20 0.30

0.00

itime=21, iobs=12

— Ensemble
‘\ Ctrue fit
\ Gaussian fit
___________ ‘___’__—_,——/ e
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=21, iobs=1

— Ensemble
\\ Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=21, iobs=2

\ — Ensemble
‘ Ctrue fit
‘ Gaussian fit
| | | | |
-10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=21, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=21, iobs=4

— Ensemble
Ctrue fit
‘ Gaussian fit

\

T TR T - — e

I I I I
-10 -5 0 5

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=21, iobs=5

h —— Ensemble
| Ctrue fit
Gaussian fit

x-gx-g-gl-g-,_r-__gv-,“-—f e owmr. cwmmm.

I I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=21, iobs=6

[\ —— Ensemble
\ Ctrue fit
{ Gaussian fit
// ,
S e
| | | | | |
-10 -5 0 5 10

log(srs / median(srs))



itime=21, iobs=7

0.4

0.2 0.3

density

0.1

0.0

:‘\ — Ensemble
‘\ Ctrue fit
Gaussian fit
\
e __‘/ \‘ —_———
| | | |
-10 -5 0 5

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=21, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=21, iobs=9

— Ensemble
i Ctrue fit
Gaussian fit
AAAAAAA _.-—_-———-———’-'/ T r— —— s
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

01 02 03 04 05 0.6

0.0

itime=22, iobs=10

P = - -

— Ensemble
Ctrue fit
Gaussian fit

H
|1
'
|\
,i
'i
‘R
|I

/K

T e . mCE R

I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.2 03 04 05 0.6

0.0 0.1

itime=22, iobs=11

{

I

/

I T TEE IEEC TR TEEC I IR X T X —/’/

l
!
I
I
I
I

- —— Ensemble
Ctrue fit
Gaussian fit

e

|
|
i
i
|
\

— e e e . mowm

I I I
-15 -10 -5

I I
0 5

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=22, iobs=12

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=22, iobs=1

— Ensemble
Ctrue fit
Gaussian fit
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=22, iobs=2

h —— Ensemble
i ‘ Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=22, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=22, iobs=4

— Ensemble
Ctrue fit
\ Gaussian fit
- — L ———— o
| | | | |
-15 -10 -5 0 5

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=22, iobs=5

——
TR TR rw. rw.re

h —— Ensemble
\ Ctrue fit
Gaussian fit

- K‘
e mmw ommE o

I I I I I
-10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=22, iobs=6

,\ —— Ensemble
‘\ Ctrue fit
Gaussian fit
___________ ____’./"/ —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=22, iobs=7

A

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=22, iobs=8

— Ensemble
Ctrue fit
Gaussian fit
’——/ /
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=22, iobs=9

i — Ensemble

‘ Ctrue fit
\ Gaussian fit
|
|

—————— — T — PSS R, ¥ —
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

01 02 03 04 05 06

0.0

itime=23, iobs=10

A —— Ensemble
Iy Ctrue fit
11 Gaussian fit
I
|
I
L
L
Lo

e | —

-10 -5 0 10

log(srs / median(srs))




density

0.6

0.2 03 04 05

0.0 0.1

itime=23, iobs=11

M

.
— -
— — —

I
I\
/
R e

— Ensemble
Ctrue fit
Gaussian fit

e e SRR S S Y

I I I
-10 -5 0

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=23, iobs=12

— Ensemble
\ Ctrue fit
Gaussian fit
---------- _,____,_/_‘/ \\_____‘-_‘__‘-
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=23, iobs=1

h —— Ensemble
\ Ctrue fit
Gaussian fit
I I I I
-10 -5 0 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=23, iobs=2

{‘\ — Ensemble
‘ “ Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=23, iobs=3

— Ensemble
Ctrue fit
\ Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=23, iobs=4

B R s BT, RER . TR

— Ensemble
Ctrue fit
Gaussian fit

-15

-10

I I
-5 0

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=23, iobs=5

[ 3 —— Ensemble
1 Ctrue fit
Gaussian fit
T T T R— j-,-—r‘/’( o = =
| | | |
-10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=23, iobs=6

log(srs / median(srs))

\ — Ensemble
“ Ctrue fit
Gaussian fit
7
— ,_A_A,_J‘f____-»—'/ R —
| | | | | |
-15 -10 -5 0 5 10




density

0.3

0.2

0.1

0.0

itime=23, iobs=7

[\‘ —— Ensemble
i ‘\ Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=23, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=23, iobs=9

— Ensemble
i Ctrue fit
Gaussian fit
l\
|
|
/
V4
-~
_____________ _‘__,_,____J—/ o — e —
| | | | | | | |
-20 -15 -10 -5 0 5 10 15

log(srs / median(srs))



density

01 02 03 04 05 06

0.0

itime=24, iobs=10

— Ensemble
ﬂ Ctrue fit
,‘ ‘ Gaussian fit
y
1
I}
o
;l |
| |
-15 -10 -5 0 10

log(srs / median(srs))




density

03 04 05 06

0.2

0.0 0.1

itime=24, iobs=11

log(srs / median(srs))

- —— Ensemble
1) Ctrue fit
4 i Gaussian fit
Ly
l\
I
o
I
\\




density

0.10 0.20 0.30

0.00

itime=24, iobs=12

log(srs / median(srs))

[\ —— Ensemble
‘ Ctrue fit
Gaussian fit
/
—— J_J_J_J___J‘,_’/ e
| | | | |
-15 -10 -5 0 10




density

0.10 0.20 0.30

0.00

itime=24, iobs=1

log(srs / median(srs))

[\ —— Ensemble
\ Ctrue fit
Gaussian fit
1
7/ &
/
—_— J_g_g__.__x__,____,_/ e
I I I I I I
-15 -10 -5 0 5 10




density

0.3

0.2

0.1

0.0

itime=24, iobs=2

h — Ensemble
i Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=24, iobs=3

— Ensemble
Ctrue fit
Gaussian fit

I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=24, iobs=4

— Ensemble
\ Ctrue fit
Gaussian fit
T — T — IEEN . IWEE. WSS W e J—-—‘——’ —E e d W
| | | | |
-15 -10 -5 0 5

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=24, iobs=5

A

Iy

—

I T I TR C O — -

— Ensemble
Ctrue fit
Gaussian fit

| | |
-10 -5 0

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=24, iobs=6

[\ —— Ensemble
'\ Ctrue fit
Gaussian fit
/.
— T — s . e _—_—"4—"/ \-‘—-’\_—'\_ _____
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=24, iobs=7

[\‘ —— Ensemble
I Ctrue fit
‘\ Gaussian fit
- \_JJ‘J‘J‘
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=24, iobs=8

— Ensemble

\ Ctrue fit
Gaussian fit
7
/

AAAAAAAAAAAA _'__..___’/ \.-_-(-._--

| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=24, iobs=9

— Ensemble
i Ctrue fit
Gaussian fit
T — — — T _,-_.--——/_', “““““
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=2, iobs=10

— Ensemble

! Ctrue fit

Gaussian fit
/
P
AAAAAAAAAAA ___‘____’/ e
| | | |
-10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=2, iobs=11

— Ensemble
‘ Ctrue fit
Gaussian fit
___________ _r__'__.___,/ / e
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=2, iobs=12

e e et

— Ensemble
Ctrue fit
Gaussian fit

—— -

-10

log(srs / median(srs))

10




density

0.10 0.20 0.30

0.00

itime=2, iobs=1

— Ensemble
\ Ctrue fit
\ Gaussian fit
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=2, iobs=2

— Ensemble
‘ Ctrue fit

Gaussian fit

VAN
AAAAAAAAAAA _'_4__//

I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=2, iobs=3

[\ —— Ensemble
Ctrue fit
Gaussian fit
/
________________ _‘__,-_‘_—’// e
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=2, iobs=4

— Ensemble
\ Ctrue fit
Gaussian fit
\
E——— ,_J_J_J‘J-J——/ i
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=2, iobs=5

I I I rw T

— Ensemble
; Ctrue fit

Gaussian fit

-

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=2, iobs=6

A

— Ensemble

Ctrue fit
Gaussian fit
o e r— — \~ _________ -
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=2, iobs=7

P —— Ensemble
Ctrue fit
Gaussian fit
/
7
I _J_J_J______.*/ e
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=2, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=2, iobs=9

— Ensemble
Ctrue fit
‘ Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=3, iobs=10

F — Ensemble
! \ Ctrue fit
‘\ Gaussian fit
’Jl
| | | | |
-10 -5 0 10

log(srs / median(srs))




density

0.3

0.2

0.1

0.0

itime=3, iobs=11

— Ensemble
| Ctrue fit
Gaussian fit
/ /
________________ _._______’// I
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=3, iobs=12

L I I e N W ek -

Ensemble
Ctrue fit
Gaussian fit

e e -

-15

-10

I I
-5 0

log(srs / median(srs))

10




density

0.10 0.20 0.30

0.00

itime=3, iobs=1

— Ensemble
‘ Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=3, iobs=2

— Ensemble
‘\ Ctrue fit
Gaussian fit
o _’__'____!/ —~————
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=3, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAAAA _,_,.,—// —~——
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=3, iobs=4

— Ensemble
Ctrue fit
\ Gaussian fit
| | | | |
-15 -10 -5 0 5

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=3, iobs=5

[\ — Ensemble
\ Ctrue fit
‘ Gaussian fit
- J_A_J_J_,___// ~N———
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=3, iobs=6

[\ —— Ensemble
Ctrue fit
Gaussian fit
e ———————————— \-_—_—__i_g
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=3, iobs=7

Ctrue fit
Gaussian fit

[‘\ —— Ensemble

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=3, iobs=8

L -

— Ensemble
Ctrue fit
Gaussian fit

-10

I I
-5 0

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=3, iobs=9

[\‘ —— Ensemble
Ctrue fit
Gaussian fit
JJJJJ e —— P B Y SE SRR
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




itime=4, iobs=10

0.2 0.3 0.4

density

0.1

r\ —— Ensemble
i § Ctrue fit
‘ Gaussian fit

— ,_A_A_J__.__,_J_J_,.// ———

0.0

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=4, iobs=11

— Ensemble
Ctrue fit
Gaussian fit
/
1
_______________ _‘_____’__// e
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=4, iobs=12

/\ —— Ensemble
‘ Ctrue fit
Gaussian fit
| | | |
-10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=4, iobs=1

— Ensemble
“ Ctrue fit
‘ Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=4, iobs=2

[\ —— Ensemble
\‘ Ctrue fit
Gaussian fit
7
----------- —'—_‘-__—_’ / \\-._-—__-_-_-
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=4, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAA —'_—"/ / s
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=4, iobs=4

Ensemble
Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=4, iobs=5

[\ —— Ensemble
Ctrue fit
\ Gaussian fit
| | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=4, iobs=6

I e .

— Ensemble
Ctrue fit
Gaussian fit

-10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=4, iobs=7

[‘ —— Ensemble
] \ Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=4, iobs=8

Ensemble
Ctrue fit
Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=4, iobs=9

\ — Ensemble
‘ Ctrue fit
Gaussian fit
ggggggggggg —r— ’—\—¥-—_-___
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=5, iobs=10

!‘\ —— Ensemble
iy Ctrue fit
Gaussian fit
e
S _u___’/ s
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=5, iobs=11

| — Ensemble
i Ctrue fit
Gaussian fit
/
7/
e e ____"/ —
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=5, iobs=12

— Ensemble
Ctrue fit
Gaussian fit

L I I I ek W - ———

I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=5, iobs=1

B S i

— Ensemble
‘ Ctrue fit

\ Gaussian fit

e e e owm wm

-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=5, iobs=2

[\ — Ensemble
| \ Ctrue fit
Gaussian fit
AAAAAAAAAA _’__'-/ \__________
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=5, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=5, iobs=4

— Ensemble
Ctrue fit
‘\ Gaussian fit
gggggggg —r—— e
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=5, iobs=5

[\ — Ensemble
Ctrue fit
\\ Gaussian fit
——— _A.-J-_;-.r—__—l»"/// \\_- ______ ————
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=5, iobs=6

o
I T T TEE . T e

— Ensemble
Ctrue fit
Gaussian fit

-15

-10

I I
-5 0

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=5, iobs=7

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=5, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=5, iobs=9

\ — Ensemble
‘ Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=6, iobs=10

N —— Ensemble
1 Ctrue fit
Gaussian fit
o J_A,_J_J__,______——_‘/ o o e
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=6, iobs=11

i

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=6, iobs=12

I T r -

— Ensemble
Ctrue fit
Gaussian fit

-15

-10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=6, iobs=1

— Ensemble
\ Ctrue fit
Gaussian fit
AAAAAAAA e ——— ———
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=6, iobs=2

— Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAA _’__‘___‘_/ e
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=6, iobs=3

[\ —— Ensemble
\ Ctrue fit
\ Gaussian fit
AAAAAAAAAAA —— ey,
I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=6, iobs=4

I\ —— Ensemble
Ctrue fit

\ Gaussian fit

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=6, iobs=5

— Ensemble
\ Ctrue fit
\ Gaussian fit
e — £t _,____”-"/ s
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=6, iobs=6

I\ — Ensemble

Ctrue fit
Gaussian fit
/
P

I T — x-J-J-_I-—’-—‘-"’J——, —ne eme awme »
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=6, iobs=7

log(srs / median(srs))

[‘ —— Ensemble
Ctrue fit
Gaussian fit
T —— — — — T T \\;_\_ _____ —
| | | | | |
-15 -10 -5 0 5 10




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=6, iobs=8

[\ —— Ensemble
Ctrue fit
Gaussian fit
| | | | |
-10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=6, iobs=9

s'"‘ — Ensemble
f { Ctrue fit
Gaussian fit
AAAAAAAAAAA J-/// S
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=7, iobs=10

- X

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=7, iobs=11

;‘\ —— Ensemble
‘ \ Ctrue fit
Gaussian fit
_~
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=7, iobs=12

— Ensemble
Ctrue fit
Gaussian fit
___________ _,‘_.__J-‘/ e g e s s
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




itime=7, iobs=1

0.30

density
0.20

0.10

0.00

— Ensemble
Ctrue fit
Gaussian fit

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=7, iobs=2

— Ensemble
\ Ctrue fit
\ Gaussian fit
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=7, iobs=3

[\ — Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAA e g I
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=7, iobs=4

— Ensemble
\ Ctrue fit
Gaussian fit
T — T — S THIST  UHS. TN, TN, DR ‘w-—f—_‘—_
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=7, iobs=5

— Ensemble
Ctrue fit
| Gaussian fit
yd
o —— T _‘___,,———/ g e e
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=7, iobs=6

I\ —— Ensemble

Ctrue fit
Gaussian fit
A SE—— e —me  rwme swme wwme >
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=7, iobs=7

— Ensemble
Ctrue fit
Gaussian fit
e w— _/’/ —_
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=7, iobs=8

— Ensemble
Ctrue fit
Gaussian fit

I - B e ——

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=7, iobs=9

[\‘ —— Ensemble
! { Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.1 0.2 0.3

0.0

itime=8, iobs=10

'"“ — Ensemble
i ‘ Ctrue fit
‘ Gaussian fit
/
— T — — — - T e e // S ommn o o omms omm
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




itime=8, iobs=11

density
0.3 0.4

0.2

0.1

0.0

"'; —— Ensemble
i Ctrue fit
Gaussian fit
/
1
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=8, iobs=12

log(srs / median(srs))

,\‘ —— Ensemble
\ Ctrue fit
A Gaussian fit
I I I I I
-15 -10 -5 0 10




density

0.10 0.20 0.30

0.00

itime=8, iobs=1

[\\ —— Ensemble
\ Ctrue fit
\ Gaussian fit

- 4-4-4—_.-_.-__4_’)/ g, S S

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=8, iobs=2

— Ensemble
\ Ctrue fit
Gaussian fit
/
v
AAAAAAAAAAA _‘___,____’/ e ———
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=8, iobs=3

[\ —— Ensemble
Ctrue fit
Gaussian fit
AAAAAAAAAAA _'-_'-___‘_// N
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=8, iobs=4

log(srs / median(srs))

— Ensemble
\ Ctrue fit
\\ Gaussian fit
L I——— .-J_J-J—,—J——’/ R
I I I I I I
-15 -10 -5 0 5 10




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=8, iobs=5

— Ensemble
Ctrue fit
Gaussian fit
— _
4_4-#__:—_.-_1——_—— —— \l‘___“_ ‘‘‘‘‘
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=8, iobs=6

T — T — T— T— x-gx-g-.__j"”//

A

— Ensemble
Ctrue fit
Gaussian fit

e e e e

-20

I I I
-15 -10 -5

log(srs / median(srs))

I
0

10




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=8, iobs=7

[‘ —— Ensemble
Ctrue fit
Gaussian fit
___‘___J_J-__',// S — e
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=8, iobs=8

[\ —— Ensemble
Ctrue fit
Gaussian fit
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=8, iobs=9

P\‘ —— Ensemble
i \ Ctrue fit
Gaussian fit
o I-A-J-J-J-——_J—"_’V" g g e e —————
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.4

0.3

0.2

0.1

0.0

itime=9, iobs=10

i i
B

e

—

I T T TEEC TEEC I r rwmm. r . rwe e

— Ensemble
Ctrue fit
Gaussian fit

I I I I
-15 -10 -5 0

log(srs / median(srs))




density

0.4

0.1 0.2 0.3

0.0

itime=9, iobs=11

q —— Ensemble
iy Ctrue fit
Gaussian fit
j \
I I I I I
-10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=9, iobs=12

[\‘ — Ensemble
Ctrue fit
Gaussian fit
____________ - / \\________.________¥<
| | | | |
-15 -10 -5 0 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=9, iobs=1

[\ —— Ensemble
\ Ctrue fit
\ Gaussian fit
S
___________ J__-___’/ \ e
I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=9, iobs=2

— Ensemble
4 Ctrue fit
Gaussian fit

4-4—_1__.-_.-__.'—_;—"’// — e —— 1>

I I I I I I
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=9, iobs=3

— Ensemble
Ctrue fit
Gaussian fit
__________ J-_‘__/ / \\-_-—__--
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=9, iobs=4

I I I rwm. e

— Ensemble
Ctrue fit
Gaussian fit

——_rwm e

-10 -5 0

log(srs / median(srs))

10




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=9, iobs=5

— Ensemble
\ Ctrue fit
Gaussian fit
AAAAAAAAA S ————— \\____‘________
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25

itime=9, iobs=6

— Ensemble
Ctrue fit
Gaussian fit
/
e — - _J-J_J-_’_J"/ e S,
| | | | | | |
-20 -15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=9, iobs=7

N

\

— Ensemble
Ctrue fit
Gaussian fit

\KE-L-

log(srs / median(srs))




density

0.00 0.05 0.10 0.15 0.20 0.25 0.30

itime=9, iobs=8

— Ensemble
Ctrue fit
Gaussian fit
et ____/ .,
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




density

0.10 0.20 0.30

0.00

itime=9, iobs=9

{\ —— Ensemble
' Ctrue fit
Gaussian fit
2 _‘_____‘__’// o r———
| | | | | |
-15 -10 -5 0 5 10

log(srs / median(srs))




